[ 2 [ 1

BILL OF QUANTITY"-

100
' Piece mark Size/description Quantity Length Unit wt. Weight Total
. \ @ \ : PH 10Nos. 17.56 HOLES T~ ~ [ ] (nos.) kg/mor | per piece [ Weight
C C | e s o 4 400 FOR M16 BOLTS mm kg/m’ kg kg
N B IR T ol 75 * 5 _ 1 200 NB PIPE 1 3509 31 10878 | 108.78
V V ‘ ‘ | I - A A7 w| 3 \|SA Tox75x6-100Lg 2 12 thk. Plate 1 400  x 400 942 15.07 15.07
=t ““ T i i ™ 2A 12 thk Plate 1 400 x 400 9.2 15,07 15,07
I | o | b | 4Nos. 144 HOLES 3 6 _thk. Plate 8 104 x 150 471 0.74 5.88
A “ A I |l ™ ol e So gl ON 243 P.CD FOR 4 L 75x75¢6 5 100 68 0.68 340
B = 9 B o e H / N LA MOUNTING B 4A L 75x75x6 2 100 68 0.68 1.3
© 1o - I 5 16 _thk Pl 1 400 400 1256 20.10 20.10
| N 2 H \\ /) H EARTH FLAT FIXING DETAIL 6 6 :hk. PI:: 6 104 i 200 471 0.98 5.88
} | o ®H \\\ /// H® ISMC 100-400 LG.@ IN PLAN 7 6 thk. Plate 2 104 x 200 47.1 0.98 1.96
! ! Q ™ | e | (ENLARGED) 8 ISMC 100X50 2 400 9.56 3.82 7.65
| | 4A
w | | A ! | ! 9 16 thk Plate 1 240 x 260 1258 7.84 7.84
M12—2-40 H } ) el | o \ \\ 75 75 10 L 60x60x5 1 190 45 0.86 0.86
| ; HM12_1_40 | | © PLT.400x400x12Thk 5 . o - Subtotal | 19384
| | | | HARDWARES:
! ! ! ! PLAN VIEW AT TOP i H -
| | | |
| | | | ! ! !
o | | | DY B D o —w
a0 | | | | 7 N\ . Quantity Total wt.
- o [[— Il Hardware name Unit wt.
o | | o | | 4 NOS. 22 MMg OF BASE PLT. / ol ® T A (nos.) (ka)
2 ! ! < ! ! HOLES FOR M20 Yo TN 2o M12 dia x 40 LG (for earth flat fixing) 0.066 13+ 1 024
T | | | | FON. BOLT (TYP.) o \\\\ o M16 dia x 45 LG 0133 24+ 3 3591
C) } } } } BEP L } $7 3 BASE PLATE = }\ ‘7/’ H M1 2 dia x 2 5thk sp.washer 0.006 13+ 1| 0084
w ! ! ! ! 6 4OO><4OO><16THK.C M1 6 diia x 3.5 thk sp. washer 0.009 4+ 3 oo#
| | | | TYP>—QB—§ L_| ] I I
n | | | | / ! ! Total 4.840
= | ‘ ‘ ‘ = — o FOUNDATION BOLT DETAILS:-
5 o | | ey L L )
D L‘ :
E | T 1L M12=1=40 | | 0 Hardware name - M20X725MV LG Unit wt.(kg) Quantity | Total wt.
= | | | | 2 NOS. 6mm THK. ™ SECTION C-C { nos.) kg)
- } } } } - : _ 200x104 STIFFENER PLATE M.S Round bott 1.791 1 1791
= | | | | ‘ \ ‘ ; , 3 38 31 Standard nut 0.061 2 0.122
o ! ! ! ! &L @&L J& 6 NOS. 6mm THK. 8 ’ Lock nut 0.033 1 0.033
2 | | | | 200x104 STIFFENER PLATE™ T [ [ ] Washer 0253 1 0.253
= | | | | 400
o } } gg } } — g-) INos.—14¢ HOLE FOR Anchor plate _ 0.33 1 0.330
5 | | © | | S o | EARTH FLAT FIXING TT‘::‘W?'Q:::‘(SN”C‘:S)) 12(;5132
| | | | ~ otal weig X
= | | | | SECTION A-A
- | | | | (BASE PLATE)
S \ \ \ \ Summary of weights:-
, } } o } } Weight of Structure: 193.84 kg
o } } @ — } } o 400 ISA 75x75x6—100Lg DETAIL OF 4A Weight of Hardwares: 484 kg
3 | ‘ Tvi2—1-40 % | | D 3 == EARTH FLAT FIXING CLEAT "“’"ig"“’f':““'_‘r"“:ﬁ:"”‘v:_“'::: —;00;729 ig
o T | e ek = IN ELEVATION ot Weight: 20870 kg
i f@ i = i i ‘ ‘ (ENLARGED)
B 05 : * 190 : 25 I i 110 : b B | /PLT.4OOX4OOX12Thk. O 00
— = R ™~ f%\(/
2-40 7‘ 77—;7*%7 2-40 - B } } V - 0 / \ 797/_@ q W
O O ~ | T o~ N I A
50 |f ‘ el 50 © g | | 3|, - " >/
I @; = | N K/ I N\ ISA 75x7546-100L
2NDS. 138 HOLE ‘ ‘ : ‘ ‘ O D<Typ — .
FOR SURGE COUNTER| | | 5 | R H\ | N | 149 HOLE FOR NOTES: -
FIXING | | I | | | 10 NOS. 17.5¢ HOLES EARTH FLAT FIXING
‘ | s ‘ ‘ o FOR M16 BOLTS 1. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE SPECIFIED.
! / ®\ - ! ! 2 2. THE STRUCTURAL PIPE SHALL CONFIRM TO IS: 1161-1998 (YST = 210N/mm?)
8 NOS. 6 THK.
i T Twib-1-s0 S i TS0 07 STFFENER PLATE—3 DETAIL OF 4 3. ALL WELDS ARE 6MM FILLET CONTINUOUS WELD UNLESS OTHERWISE SPECIFIED
i P : | | SECTION B-B EARTH FLAT FIXING CLEAT 4. WELDING SHALL BE DONE AS PER IS : 816 (LATEST REVISION) OR ELECTRIC WELD.
} } \( z } } N IN ELEVATION 5. ALL FABRICATION MATERIALS INCLUDING BOLTS, NUTS AND WASHERS SHALL
| | DETAIL-E g | | BE GALVANISED AS PER SPECIFICATION. MIN. COATING THICKNESS SHALL BE 610 g/m:
| | | | FOR PIPE STRUCTURES AND 300 g/m:FOR FASTENERS SPRING WASHER SHALL BE ELECTRO
} } - } } 240x260x16 THK.PLT. @ GALVANISED AS PER 1S:1573-1986 SERVICE GRADE 2.
| | | |
} } 3 } } 298 45 6. ALL BOLTS NUTS AND LOCK NUTS SHALL CONFORM TO REQUIREMENTS OF
o } } } } - 1096 150 o L60x60x5 . INDIAN. STANDARD SPECIFICATION IS : 1363/1367 (LATEST REVISION)
E } } } } E / o 7. ALL BOLT HOLES ARE 17.5¢ FOR M16 BOLTS UNLESS NOTED OTHERWISE.
| | | | v THE FABRICATION DRAWING IS ONLY TYPICAL & THE HEIGHT/MOUNTING &
} } } } 4 (FrP) ol o OTHER DETAILS SHALL BE MATCHED AS PER REQUIREMENT OF EQUIPMENT.
| | @ | | - —— — S| @
| | | | 50 (TYP) (.
| | 4A |
; | M12-1-40 | @ | /( — BUS HEIGHT FROM PL 6430
M12—2—40{]l | | kidm N _2Nos. 136 HOLES EQUIPMENT HEIGHT UP TO C.L OF BUS | 2781(2685+96)
50 } } } } 6V - HENCE, SUPPORTING STRUCTURE HEIGHT | 3649
o : i i i EQUIPMENT MAKE CROMPTON GREAVES LTD.
v S e | 2 TV | | SECTION D—-D EQUIPMENT DRG No. 323167
Lo
A (TYP) = H T A PROFILE CUT TO SHAPE (ENLARGED)
(@]
o<t 142
] L0
i | | S 945 BIHAR STATE POWER TRANSMISSION CO. LTD.
i I Ll
I-%(;I'J’7E5A¢RTCI)-IFI)IEE :;l\IOLTEi DRG. TITLE GA OF STRUCTURE FOR 220KV EQUIPMENT—LA
ELEVATION OPPOSITE STIFFENER DETAIL-E DRG. NO. BSPTCL—SUBS—SWYD—S—STD—DRG—220KV EQUIPMENT—LA
SCALE AS MENTIONED SHEET 1 OF 1
9 | 8 7 6 | 5 4 3 [ 2 [ 1




